Name __________________________________________  Section ____________________


Word Problem Homework 3:

1. [bookmark: _GoBack] For soccer season, Sebastian decided to buy a ball for $9.90, new shorts for $17.00, as well as a pair of soccer shoes for $49.40.   Sebastian currently has $18.30, and a coupon for $13.00 off his purchase.  How much more money does Sebastian need to complete his purchase?


What are they asking?

What do they tell us?

What keywords do you see?

Solve the problem.  Show your work:


